Anx B - Work Completion Report

Remarks: Approved by projectan Sign: Date: Notes: 1. This sheet replaces installar required i.e., details cannot by entert sign of respective E&D member to the must be sent within 2 working days sent by courier)	, o , o	7.	5.	4.	2	2		-	SI. No.	WO date	WO no.	Block no.	Project site	Company
y projectinana y projectinana t replaces installation s cannot by entered ab &D member to be tak &D member to be tak				Deduction		3	The state of the s	A-Riock	Unit floor	NA	NA	A-Block	Nilgiri Heights	Modi Rea
Indiana (Indiana) and predicto of the control of th				Deduction of oper		A- Block 5th 8th 9	one coat painting work completed	A- Block 5th 8th 9th	Details of work				ights	Modi Realty Pocharam LLP
Approved by projecting the Company of the Date: Sign: Date: Da				Deduction of open place & window		A-Block 5th 8th 9th 10th floor corridor ceiling one coat painting work completed	work completed.	A- Block 5th 8th 9th 10th floor corridor walls		Contractor bill no.	Work done to date	Work done from date	Nature of work	Name of contractor
m Ist be typed. 3. Use this required rs approval is required R), Sachin (for Vivopo s to send scanned copy				1005.60		7080.00		s 21948.00	Qty		15/08/24	05/07/24	Painting	Narsing rao
form even if w 6. For bill am lis), B. anand k of bill to site a				Sft		JIC O		Sft	Units					
Approved by Director/E&D team Sign: Date: work order is not issued 4. Attach measurement and estimate sheets only used to the steam (for NGH + NRK). 8. Entry of rate ID is mandatory. 9. This sheet I Kumar (for NGH + NRK). 8. Entry of rate ID is mandatory. 9. This sheet and QS by email. 11. Contractors must submit original bills at HO (can be				P1 109		11 103	DT 100	PT 109	Rate ID	Date ID	GCT bill required?	WO included 9	M.codex bill ID	SI. No. site bills reg.
irector/E&D tea	Total			1.02	163		162	1.62	Mic	Rate		ZA	OLI OTI LE	02/09/24
d estimate sheets only it and in place of director industry. 9. This sheet nall bills at HO (can be	45,396				1629		11.469	35,555		Amount				

	-
2	
-1	

45,396.29	Total amount:						
	384.91	1.62	Sft	237.6			
	1,244.16	1.62	Sft	768.0	Deducution of open place and windows	Deduction of windows and open place	2
47,025.36							
	738.72	1.62	Sft	456.0			
	738.72	1.62	Sft	456.0			
	777.60	1.62	Sft	480.0			
	3,849.12	1.62	Sft	2376.0			
	5,365.44	1.62	Sft	3312.0	Block A 5th,8th,9th&10th floor corridor ceiling one coat painting work		
	2,290.03	1.62	Sft	1413.6			
	2,290.03	1.62	Sft	1413.6			
	2,410.56	1.62	Sft	1488.0			
	11,932.27	1.62	Sft	7365.6			
	16,632.86	1.62	Sft	10267.2	Block A 5th,8th,9th&10th floor corridor walls one coat painting work completed	Painting work	1
Attan Altan A Of	Amount	Marc	Omes	Anamery	AND IN POSCI PRIOR		
Itom Head Total	Amount	Pato	Ilnite	Ougntity	Item Description	Item Head	SNO
					31.08.2024		Date:
					Anil.M	d By:	Prepared By:
					Narsing rao	tor	Contractor:
					Painting work	Work Description:	Work D
					NGH		Project:
	ay raj	Approved by: Vijay raj	Approve		MRPLLP	Company Name:	Compa
						END A ALVACA ALL COMMUNICAL A	NA AM

9.5001

2000

	1	2	Т	Т	П	7	1			П	T	T	П		1		S No.							
		Deduction of windows and													Painting work	Block-A	o. Item Head	Date:	Prepared By:	Contractor:	Work Description:	Project:	Company Name:	MEASUREMENT SHEET
		Deducution of open place and windows						ceiling one coat painting work completed	Block A 5th,8th,9th&10th floor corridor						Block A 5th,8th,9th&10th floor corridor walls one coat painting work completed		Item Description	31.08.2024	Anil.M	Narsing rao	Painting work	NGH	MRPLLP	
	6.6	4.0		19.0	19.0	20.0	99.0	138.0			38.0	38.0	40.0	198.0	276.0		Length							
	9.0	8.0		6.0	6.0	6.0	6.0	6.0	,		1.0	1.0	1.0	1.0	1.0		Width							
	1.0	1.0		1.0	1.0	1.0	1.0	1.0			9.3	9.3	9.3	9.3	9.3		Height						Appro	
	4.0	24.0		4.0	4.0	4.0	4.0	4.0			4.0	4.0	4.0	4.0	4.0		No's						ved by:	
	237.6	768.0		456.0	456.0		2	3,312.0			1,413.6	1,413.6	1,488.0	7,365.6	10,267.2		Quantity						Approved by: Vijay raj	
	Sft	Sft		Sft	Sft		Sft	JII.	20		Sft	sft	Sft	Sft	Sft		Units							
																	Item Head Total							

Bill for Labour charges

Narsing rao Mallapur Hyderbad

Date.31.08.24

In favor of: Project / Site: Nilgiri Heights Nilgiri Heights

Location:

Pocharam

Type of Work:

Painting work

Towards:

Allowance for Labour charges

S No.	Description	Amount
1.	Brief description of work done: Towards completion of one coat painting work at corridors of 5 th ,8th,9th & 10 th floors.	Rs.18158/-
	Total Amount = 45396/-	
	Work done from date: 28.07.2024 to date: 29.08.202	

Amount in words: Eighteen thousand one hundred and fifty eight rupees only

Sign:	

Bill for Equipment charges

Narsing rao Mallapur Hyderbad

Date.31.08.24

In favor of:

Nilgiri Heights

Project / Site:

Nilgiri Heights

Location:

Pocharam

Type of Work:

Painting work

Towards:

Allowance for equipment

C No	Description	Amount
S No. 1.	Brief description of work done: Towards completion of one coat painting work at corridors of 5 th ,8th,9th & 10 th floors.	Rs.18158/-
	Total Amount = 45396/-	
	Work done from date: 28.07.2024 to date: 29.08.202	

Amount in words: Eighteen thousand one hundred and fifty eight rupees only.

Sign:	

Bill for Consumable Charges

Narsing rao Mallapur Hyderbad

Date.31.08.24

In favor of:

Nilgiri Heights Nilgiri Heights

Project / Site: Location:

Pocharam

Type of Work:

Painting work

Towards:

Allowance for Consumable charges

S No.	Description	Amount
1.	Brief description of work done: Towards completion of one coat painting work at corridors of 5 th ,8th,9th & 10 th floors.	Rs.9079/-
	Total Amount = 45396/-	
	Work done from date: 28.07.2024 to date: 29.08.2024	

Amount in words: Nine thousand sevnty nine rupees only.